s 3 &
= rJ
A K4 — L ANE = = A, = i A =
SHAFEERFT—R|FTHETE (BEFESEAR) EEFE2E)

1 % A (B4 FM)

=X 1E-B FHIERTDEAR WIE4E 5 A
2 EEMBE
=TT 538,489 78,300 616,78 KB R BEEHS 76,613
wWEE AR R & 25,538
PREREINKEEEHNE 51,075
EEEREWHDE 1,687
A B £ EERERT & 562
PREREINEEEZEHDS 1,125
2wt (8 F )
R 18 FHIERTDEE fHIEEE it
10 5EE 14,267,146 144,583 14,411,729
2 INERE 3,756,763 68,850 3,825,613
3 FERE 1,383,208 33,300 1,416,508
4 SEERE 526,760 2,250 529,010
5 HEHEE 3,107,192 3,101 3,110,293
6 REAEE 3,491,138 37,082 3,528,220
A i " (B F+H)
& N B R AIER .
S B = - B ]
= A H HIEH ERzEa] mE | 0k |—RiE i
N3RS g AR e ERBECORBORE 68,850
Eﬁji’kj;‘%] 'J;f;f‘giﬁ 68,850| 51,638 17212 IEREBER 68,850
PRYE IR ENE NI 68,850
N3RS g AR e ERBECORBORE 33,300
Eﬁ'ﬁ?j;‘%] EP%BEEE 33,300 24,975 8,325| HFKEEEE 33,300
*B PRYE IR ENERIEEE 33,300
[ [ AR e ERBECORBORE 2,250
Egi_jf%"ﬁ'*"] ﬁgﬁi’fﬁ 2,250 1,687 563| BEykEEE 2,250
* B PRYE TR ENE IR 2,250
(RE - BEF eRER EEFEBEORE 3,101
NDR] e R 3,101 3101 AREBHBER-FTIEY 3,101
10-5-2 = RIREE HEREEREEI AT BTSN 3,101
&t 107,501 78,300 26,100
3 #EHEREFEMHEIE GEM) (- FA)
S I8 BEA & %
10 HEE 2 INERE INER R RER R IEEE 68,850
3 hEKRE PR E N R RE 33,300
4 BEERE MIRHEEFRBEENRIIEEE 2,250
5 HEHEE () BB R 2 —BEEE 5,200
EAAREZEMR—ILN RS REREE 17,499
HERATREVI—EEHILRESE (ARES) 2,193
AEHEBERT7IVERAERBHEE 17,435
MM B P A R R B iR B 28,424




